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2007-08 State Competition

Match #5


These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Participants must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before the end of the state tournament is prohibited. 

(b)
Releasing these questions to entities outside Virginia is prohibited. 

First period: 15 tossups, 10 points each
1.
They are the subject of the 72nd surah of the Qur’an, during which they renounce their polytheism and follow Muhammad. They are made from smokeless fire, and like humans have free will. Types of them include the ifrit (ee-FREET), the sila, and the shape-shifting ghul. Due to their fire-based nature, they can be as big as planets or even fit within a small space, like a lamp. What are these magical spirits of Arabic folklore? 

ANSWER: jinn or genie(s)

2.
The weed variety of this legal concept is placed by the government if a property is becoming a nuisance. A mechanic’s variety is placed by someone doing improvement on a property. A judgment variety is placed on someone that has lost a lawsuit. A tax variety is placed on real estate on which property tax has not been paid. A consensual one is placed on any item – real estate, cars, and other property – on which a secured loan is made. What is this concept which enables the placer to have an interest in property? 


ANSWER: lien 

3.
THIS IS A COMPUTATION QUESTION. If x equals 9 when y equals 24 and maintains that ratio, what does y equal when x equals 117, remembering that 117 divided by 9 equals 13?

ANSWER: y equals 312
4.
This word describes a cotton plant’s flower buds. When paired with ‘away,’ it means to get ready. When paired with ‘off,’ it means to prepare for conflict. When something is ‘on the (BLANK),’ it means to be honest. It describes someone that is ignorant of current fashion, and is a synonym for ‘nerd.’ What is this word that means either to multiply a number by itself or a four-sided figure with equal side lengths? 


ANSWER: square
5.
With Joseph Breuer (BROY-er), he wrote the book Studies on Hysteria. His last work was about the Thanatos, or death, instinct. In The Interpretation of Dreams, he began exploring the possibilities of the unconscious mind – especially its role in repressing painful memories. Later on, he developed a model of psychosexual development, part of which is the Oedipus complex. What psychoanalyst’s most familiar concept is of the human mind being divided between the ego, id, and superego? 


ANSWER: Sigmund Freud (FROYD)

6.
At the end of the play, Alcibiades (al-sih-BUY-uh-deez) reads the protagonist’s epitaph and is marching on the city. Its protagonist throws two banquets: one at which he gives away his entire fortune, and another at which he throws water on his guests. However, the cynical philosophy of Apemantus and the true friendship of Flavius the steward provide the title character some small degree of faith in humanity. What is this Shakespeare play about a Greek misanthrope? 


ANSWER: The Life of Timon of Athens
7. 
This manufacturer has announced plans to bid for an Air Force contract to make airline tankers, and has said it would manufacture the planes in Alabama, at the company's first plant in the US.  This company has recently dealt with wiring glitches and an incident in Singapore on their ultra-widebody A380 model. Originally founded as a consortium to compete against Lockheed, McDonnell-Douglas and Boeing, this is what European airplane manufacturer?

ANSWER: Airbus SAS

8.
The higher latitudes of these atmospheric features are marked by areas of high pressure and low winds. The subtropical jet streams are created by a combination of these features with the Coriolis force, where the winds are turned laterally and move around the earth. The Intertropical Convergence Zone marks the confluence of what tropical atmospheric circulation pattern, which sees warm air rise and move away from the equator before cooling around thirty degrees latitude?

ANSWER: Hadley cells

9.
This country’s national song mentions four boundary waterways: the Belt, the Adige (ah-DEE-gheh), the Memel, and the Maas. It has more neighbors than any other nation entirely in Europe. Other landmarks in this country include the Ore (OH-reh) Mountains, the Kiel Canal, and the Schwarzwald (SHVARTS-vald). It contains sixteen states, three of which are little more than metropolitan areas. What country shares a border with Poland, France, the Netherlands, and Switzerland? 


ANSWER: Germany
10.
Its chemical formula is C9H15N5O and it was originally used to treat high blood pressure.  Its side effects include blurred vision, low blood pressure, and itchy scalp.  Upjohn Corporation released a foam version in 2006.  Name this drug with generic name minoxidil (mih-NAWK-sih-dil) that is used to treat baldness.

ANSWER: Rogaine (accept minoxidil before it is said)

11.
This dynasty’s power declined under Chlothar the Great, who spent most of his reign fighting his cousins. Its last ruler, Childeric the Idiot, was one of its rois fainéants (rwah fay-nay-AWN), or ‘do-nothing kings,’ a poor legacy to this dynasty’s founder, Clovis I. It ended when the Mayor of the Palace did away with the formality and declared himself king. Peppin the Short ended what dynasty of Frankish kings that ruled between 457 and 751 and was followed by the Carolingians? 


ANSWER: Merovingian dynasty

12.
A woman claiming to be her lived in Charlottesville, Virginia, until her 1984 death. In August 2007, her brother’s remains were discovered, but it has not yet been determined if the female remains are her or her three older sisters. The traditional story has her being executed on July 17, 1918, near the town of Yekaterinburg, along with her sisters, Olga, Tatiana, and Maria. Who was the sister of Alexei, and the youngest daughter of Alexandra and Czar Nicholas II? 


ANSWER: Princess Anastacia
13.
He began his term in federal office replacing D. French Slaughter. After redistricting in 1990, he considered a primary challenge to Frank Wolf. His proposal to abolish parole for violent felons enabled him to defeat Mary Sue Terry and become governor. He defeated Chuck Robb to become a Senator. Presumably with almost zero support from Indian-Americans, he lost his re-election bid to Jim Webb. What Virginian ended his political career with a single word – macaca? 


ANSWER: George Allen
14.
This 1921 experiment was first performed by its namesakes in Frankfurt, Germany.  It consisted of a beam of silver atoms going through a non-uniform magnetic field and resulted in the splitting of the beam into two components.  Name this experiment that proved space quantization and quantum spin.

ANSWER: Stern-Gerlach experiment

15.
He wrote Faithful with Stewart O’Nan about the 2004 baseball season, in which the Red Sox won the World Series. He also wrote, Danse Macabre, a study of the horror genre. His recent fiction includes Cell and Lisey’s Story, and his Duma Key was released in January 2008. He wrote ‘The Fifth Quarter’ under the pen name John Swithen and several works, including Rage and Thinner, under the pen name Richard Bachman. Who is this author of Cujo, The Stand, The Shining, Christine, and Carrie?


ANSWER: Stephen King
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What disaster started in a barn behind Catherine O’Leary’s house on October 8, 1871? 


ANSWER: Great Chicago fire
1B.
THIS IS A COMPUTATION QUESTION. In lowest terms, what is 4/7 times 7/9 times 3/8 times 2/3? 

ANSWER: 1/9
2A.
Apple released version 10.5 of its Mac operating system in October, named after what feline?

ANSWER: Leopard
2B.
Objects such as Sedna and periodic comets are thought to originate from what trans-Neptunian region of the solar system that extends from the Oort cloud? 

ANSWER: Kuiper Belt
3A.
A stranger leaves a sack of gold worth $40,000 in what ‘incorruptible’ town created by Mark Twain for a short story? 


ANSWER: Hadleyburg 

3B.
Kevin Rudd, former opposition leader with the Australian Labor Party, was sworn in as Prime Minster after defeating what man in national elections?

ANSWER: John Howard
4A.
What is the scientific name for the thighbone?

ANSWER: femur
4B.
Something that is narrow between one side and the other, or someone that doesn’t have much flesh, can be described by what four-letter word? 


ANSWER: thin
5A.
THIS IS A COMPUTATION QUESTION. In Roman numerals, what is the square of XIX? 

ANSWER: CCCLXI
5B.
An ‘Organization’ led by what long-time U.S. Senator from Winchester dominated Virginia politics between the 1920s and the 1960s?


ANSWER: Harry F. Byrd, Sr.

6A.
What TWO units of radioactivity are named after French physicists?

ANSWER: curie and becquerel
6B.
Write down the following Spanish sentence. (Quizmaster: speak slowly.) Yo soy el mejor. (yoh soy ayl may-hor) (Quizmaster: speak normally.) Restate that sentence in the present perfect tense. 

ANSWER: Yo he sido el mejor. (yoh ay see-doh ayl may-hor)

7A.
Three brothers, Peter, Martin, and Jack, appear in what first major satire by Jonathan Swift? 


ANSWER: A Tale of a Tub
7B.
While the Battle of Salamis destroyed the Persian fleet, what battle fought in 479 BC destroyed the Persian army? 


ANSWER: Battle of Plataea (plah-TAY-uh)

8A.
The Treaty of Utrecht ended what war that had been fought between 1701 and 1714?


ANSWER: War of the Spanish Succession 

8B.
THIS IS A COMPUTATION QUESTION. Solve for x.  8x plus 100 equals –5x plus 22.

ANSWER: x equals -6
9A.
In what Christian hymn does the author proclaim that he will ‘cherish’ and ‘cling to’ the title object, and ‘exchange it some day for a crown?’ 


ANSWER: “The Old Rugged Cross”

9B.
Wednesday is named for what leader of the Norse gods?


ANSWER: Odin or Wotan or Woden
10A.
THIS IS A COMPUTATION QUESTION. What is the perimeter of a square with area 225 square feet?

ANSWER: 60 feet
10B.
What element is between polonium and radon on the periodic table and has a symbol of At?

ANSWER: astatine
Third period, 15 toss-ups, 10 points each

1.
Unlike other mammals, its red blood cells are oval. It has a flap in its nostrils to capture escaping water vapor. Native to Africa and Asia and consisting of its own genus, its two main types are the Bactrian and the Dromedary.  Name this even-toed ungulate that has one or two humps and is usually found in desert areas.

ANSWER: camel(s)

2.
Due to budget cutbacks in the 1980s, this military force began entering the real estate and tourism businesses. It includes the ‘Armed Police’ and the ‘Second Artillery Corps,’ the strategic missile force. The last time it fought a major war was in 1979, when it invaded Vietnam. With some 2.3 million people on active duty, it is the world’s largest military. Chen Bingde is the Chief of Staff of what military, the armed forces of Communist China? 


ANSWER: People’s Liberation Army (accept Chinese army before ‘China’ is said in the question)

3.
After the Norman Conquest, this word stopped being purely singular and started being used with anyone considered inferior. Ironically, its use today is usually at solemn occasions, such as church services. Most verbs associated with this word had the suffix –est (spell out e-s-t) attached to them. What archaic second-person singular pronoun is associated with the King James Bible and the words “shalt not?” 

ANSWER: thou
4.
He used the term ‘the missing shade of blue’ to illustrate how the mind creates ideas without sensory experience. His ‘fork’ states that all knowledge is divided into ‘relations of ideas’ and ‘matters of fact.’ His 1762 History of England was the standard until Lord Macaulay’s History of England. Dialogues concerning Natural Religion was published after his 1776 death. What Scottish philosopher revised the first volume of A Treatise of Human Nature to write An Enquiry concerning Human Understanding? 


ANSWER: David Hume
5.
Her death in 1942 prevented a second book featuring Jane Victoria Stuart. She did write three novels featuring Emily Starr. Her 1917 autobiography is called The Alpine Path despite growing up on flat land. Her museum, the home from which she wrote many of her novels, is in Leaskdale, Ontario, although most of her work is set on Prince Edward Island. Who wrote the short story collection Chronicles of Avonlea and the novels in the Anne of Green Gables series? 


ANSWER: Lucy Maud Montgomery
6.
THIS IS A COMPUTATION QUESTION. What is the molar mass of carbonic acid, given that its formula is H2CO3 and that hydrogen’s atomic mass is one, carbon’s atomic mass is 12, and oxygen’s atomic mass is 16?

ANSWER: 62
7.
He created a correspondence between himself and Cicero, and imagined a dialogue between himself and Augustine of Hippo in Secretum Meum. He wrote a description of climbing Mount Ventoux (ven-TOO), making him one of the first tourists. He was the first to call the period between 476 and 1000 AD the ‘Dark Ages.’ His will left 50 florins to buy a ‘warm winter dressing gown’ for Boccaccio (boh-kah-CHEE-oh). On Good Friday in 1327, what Italian met the woman that inspired many of his sonnets, a countess named Laura? 


ANSWER: Francesco Petrarca or Petrarch
8.
THIS IS A COMPUTATION QUESTION. Solve for n.  The sum of the integers from 1 to n is 4095.  What is n, given that n times (n plus 1) all divided by 2 equals 4095?

ANSWER: n equals 90
9.
While he called himself a member of ‘Freedom Club,’ most people know him by a nickname taken from his FBI codename. Bob Guccione (goo-CHEE-oh-nay) volunteered to print his essay, Industrial Society and Its Future, which appeared in the New York Times and the Washington Post in September 1995. His brother, David, recognized the writing style, and he was arrested in April 1996 at his isolated Montana cabin. Between 1978 and 1995, what terrorist killed three people and wounded 23 in a series of letter bomb attacks? 


ANSWER: Unabomber or Ted Kaczynski (kah-ZIN-skee)

10.
This song’s lyrics mention how there was no plastic money in 1780, and how he was exalted because he had flair. Its eight-minute Salieri Mix was in English, and included biographical information on the titular figure. Its artist is considered a one-hit wonder, even though its follow-up, ‘Vienna Calling,’ hit the Billboard Top 20. What is this timeless song by Falco about the composer Mozart?


ANSWER: “Rock Me Amadeus”

11.
C++, Perl, Java, and PHP use these characters to group statements, but BASIC, COBOL, Ada, and SQL do not. All computer languages that use them are either descendants or strongly influenced by the C programming language. In C, they are used to group the statements in a for or a while loop. What are these characters located to the right of the “p” key on a standard keyboard? 

ANSWER: Curly Bracket(s) or brace(s) (prompt on ‘brackets,’ do not accept ‘straight brackets,’ accept synonyms for ‘curly’)

12.
She was the 2007 Country Music Association Horizon Award winner. In February 2007, she had two songs on the Billboard Hot 100, both released from her self-titled debut album. She released an album of Christmas music exclusive to Target in 2007 titled Sounds of the Season, but she is better known for her first song released in 2006, about a fellow country music artist.  The current opening act for the 2007 Soul2Soul tour is what performer, whose first single was named after Faith Hill’s husband, and who has the current Top Ten single, ‘Tears on My Guitar?’

ANSWER: Taylor Swift
13.
The title figure is standing to the right of Aris Kindt, who is lying on a table. Seven other men, all dressed in their best clothes, are surrounding the table, looking on.  Open and off to the viewer’s right is Vesalius’ textbook, Fabric of the Human Body.  It was signed with the artist’s first name, as opposed to the initials RHL. A famous scientist is giving a demonstration to the public in what painting by Rembrandt? 


ANSWER: The Anatomy Lesson of Dr. Nicolaes Tulp
14.
The Bitterroot Mountains form much of this state’s southern border. Its highest point is Granite Peak at nearly 12,800 feet. Its attractions include Flathead Lake and Glacier National Park. It is the only American state to border three Canadian provinces. What 4th largest state by land area contains the cities of Bozeman, Billings, Butte, and the capital, Helena? 


ANSWER: Montana
15.
When pulled over for speeding, he presented a white card, and the policeman apologized. He is from the Midwestern city of San Francisco, attended Oxford, and was awarded a medal from Montenegro. Meyer Wolfsheim and Klipspringer skipped on his funeral, and only his father Henry and a drunk named ‘Owl Eyes’ bothered to attend. He was shot by George Wilson in a case of mistaken identity, as he covered for his beloved Daisy Buchanan. Who is this title character of a novel by F. Scott Fitzgerald? 


ANSWER: Jay Gatsby or “The Great Gatsby” or Jay Gatz
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
She created the character of pianist Katherine Forrester in her first novel, The Small Rain. She also created the character of Camilla Dickinson who appeared in A Live Coal in the Sea. However, most of her works are in the ‘chronos’ or ‘kainos’ series, which feature the Austin and Murry families, respectively. Who is the author of A Ring of Endless Night, The Arm of the Starfish, A Swiftly Tilting Planet, and A Wrinkle in Time? 


ANSWER: Madeleine L’Engle
2.
After September 1847, this composer stopped performing to focus on composing. In 1865, he took minor orders from the Franciscans. A few years later, his daughter Cosima had Richard Wagner’s illegitimate child. His third Piano Concerto was discovered in 1988. His mastery of the piano was shown at age 23, when he transcribed Berlioz’s Symphonie Fantastique for piano. What composer wrote Years of Pilgrimage, the Transcendental Etudes, and the Hungarian Rhapsodies? 

ANSWER: Franz Liszt or Liszt Ferenc

3.
It is not a property of matrix multiplication, function composition, subtraction, and division.  It is a property of vector addition, multiplication of complex numbers, and addition and multiplication of real numbers.  For a binary operation ‘star,’ what property applies if x star y equals y star x? 

ANSWER: commutative
4.
Its work was completed by 1871’s Treaty of Washington. At four paragraphs long, it is perhaps one of the shortest treaties ever signed. In 1864, the US government announced its intention to abrogate this treaty, but cancelled that decision. In 2004, the Canadian government ruled this treaty was not being violated by the U.S. Coast Guard arming its Great Lakes cutters with machine guns to protect against smuggling. What treaty, signed in 1817, began the work of demilitarizing the US-Canadian border?


ANSWER: Rush-Bagot Treaty

5.
The endogenous variety of this pathogen contributes about five percent of the human genome. Animal examples of them are avian leucosis virus, mouse mammary tumor virus, and feline leukemia virus.  Human examples of them include human T-lymphotropic virus and HIV.  Name this type of virus that has an RNA genome and uses reverse transcription to make that RNA into DNA.

ANSWER: retrovirus
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

